N IR AR SEL(NAE F)

Iis = =S 1

RIGHTHEIGHT PNEUMATIC

CM2Z5l(® 20~ ® 40)

&% (mm) 20 [ 25 [ 3 | 4
fEmk (L)
HiEH R WAEA
BEEREH 1.0MPa
RAEERIEH 0.05MPa
IMEFRIRRE FREFF XK :-10C~70C, HEEIEFF % -10'C~60C
AR 50~750 mm/s
b B b/ S B i
TRKEAZE mm i
4 FHE
#EOE (Ro) w8 | us | 8 | 14
‘g, HMET1SHISOVG32.
BERTA
cbDMm2L MB O ESA

RTEFF XA

Fizs |24 | [

M EER Tl KU

_— n | nf

xie8 | A B -

el i s dae 1l L=TI0 =
_ TR XBNS R
_D |AEEE RS |BRES
A || ot 2 i3

T EATRARBRES (mm)| (mm)i | MEFRES | RE4VS | FHUS

e A ( ) = 20 BM2-020

RNEEZE] E““Eu& Eﬁﬁﬁ ﬁﬁ**ﬂ&"i T 25,60,75,100, MoB W

LI SaBEY T |TANE®RE FioS | MOAEE FieS | RBEFL —2 1125150200, MoP BIB  f——

FIANAZSY EIRF—UH T [ gmmmms RmrxEe 32 _| 250,300 MoN | m20de,

Gl atiizzll BAXOBRAN o e SRTR/MMFAUSR 40 ' BM2-040

CleHmRS FlROaimE=a kA FERT R IR — -

D| EHE HEI R 1) HHEEAETIR TR

iH2) HEFXOMRRSIETSHBIEF XD
SHKEFRTIZS: RIES -05m. L-3m. Z-5m. ff: MON, MINL.
iH3) RAHLS SHRFYSLABRATHER.

S0 R ~F B (FEK)

| y 2-P G 2-NN WA
EXE o, M8, Hy 8 I . we
Hig, H L =
- g _ X 2 )
T & Y
mm/| G-l N 5 N/ . L w
H S+1lE amili ONA S
Zz7 -z

M |f7iEE| A AL |B1|B2| D| E F|G|H[HI[H2]| I | K MM N | NA NN P| S| zZz|WA|WB
20 ~300 |18(15.5| 13| 26| 8| 20,%:|13| 8 |41| 5| 8| 28 [ 5 [ msx1.25 | 15| 24 | m20x1.5 |[1/8] 62| 116 13 | 8.5
25 ~300 [22)19.5|17|32|10] 26083 |13| 8|45| 6| 8 [33.5]5.5[ M10x1.25] 15| 30 | m26x1.5 | 1/8[ 62| 120| 13 [ 105
32 ~300 |22(19.5|17|32|12| 26,083 /13| 8 |45| 6| 8 |37.5|55| M10x1.25| 15 | 34.5| M26x1.5 [1/8| 64| 122 13 [11.5
40 ~300 |24| 21 [ 22|41 |14 32085 [16|11|50| 6|10 |46.5| 7 | M14x1.5 [21.5(42.5| M32x2 [1/4|88|154| 16 | 15

£33 E=

4-GFDEHA c2
[N ® @
2-4LC o { N
4-4LD %& \5 : ) v o
T%'I 11T I'Ifll A
ih —x 7 | =4 & 2 FD FX
XX Lz T FZ
L 40 $20~432
EMAEE B EE & =
(mm) EHe |y | e | e | e | BT THe ED|EEY B EEZE | C2H | e HET
20 CM-L020B | 20 | 8 | 6.8 4 40 | 55 | 25 | 3.2 | 40 [ CM-F020B | 7 - | 60| 75 ] 30 [34 ] 4
25 CM-L025B | 20 | 8 | 6.8 4 40 | 55 | 28 | 3.2 | 47 | CM-F025B | 7 - | 60 | 75 | 37 [40 | 4
32 CM-L032B | 20 | 8 | 6.8 4 40 | 55 | 28 | 3.2 | 47 | CM-F032B | 7 - | 60 | 75 | 37 |40 | 4
40 CM-L040B | 23 | 10 7 4 55 | 75 | 30 | 3.2 | 54 | CM-Fo40B | 7 | 36 | 66 | 82 | 473 | 52 | 5
BHI WH o
Z
b CDH1g' 0058 @l & C D1 e 05 o1 |
9 e 10 5
/
-._.-A@. ; N Y . -._’@.-.- ; _P_ )
LU T o FOLT )
i cx:di b 1 | lexdi

cz]

EREE HEF WE HER

(mm) 42 | L | U |RR| ¢1|dbCcDjCX| ®#t2 | L |U |RR0CDjCX|CZ| oI | #s [TX|TZ|TD|TY| Z |TT

20 CM-C020B| 30 [ 14 | 9 | 28| 9 | 10 [cM-D020B| 30 [ 14| 9 | 9 |10 [ 19| 28 [cm-To20B| 32 [ 52| 8 |32 | 36 | 10
25 CM-C025B| 30 | 14 | 9 [33.5( 9 | 10 |CM-D025B| 30 [ 14 | 9 | 9 | 10 | 19 [33.5/CM-T025B| 40 [ 60 | 9 | 40 | 40 | 10
32 CM-C032B| 30 | 14 37.5| 9 [ 10 [CM-D032B| 30 |14 | 9 | 9 | 10 | 19 [37.5/CM-T032B| 40 [ 60 | 9 [ 40 | 40| 10
40 CcM-c040B| 39 | 18 | 11 [46.5] 10 [ 15 [cM-D040B| 39 | 18 [ 11 [ 10 | 15 | 30 [46.5|CM-T040B| 53 | 77 | 10 | 53 [44.5] 11
12 % B 55 S YEY T A |$‘F%ﬂﬁ| |E§§mﬂl|
1-0208,0328 1-040B Y-020B,032B Y-040B
L RR1 RR1 RR1
I _'“@'_ MM@NDHM » {’{ﬁ £ ___ a. d 30
] " - J @ B

MM $NDy, o i u} Jﬂ\ $NDyy —/_,_1:%1 :[ @i D_!

I = L A grs W i o T — H B,

4 By oo ] z|zgi - i

=mik ] 1Y) » v,

EREE 13U i 5 YT 48 S | g g REEE
(mm) [E#S[A1EL] MM onDed NX[R1JUEHE[AE|L] Mm [onD] Nx[NZR1JUlEs=] 8] c] d [H##s[B]c] 4 [H][D
20 [1-0208B|16/20[36|M8x125| 93| 927 10|14Y-0208| 16/ 20/36| M8 x125| 9 [ 9:7[18[ 5 | 14|NT-02]13| 15 | M8x125|5|SN-020B|26| 30 M2015| 8 [25.5

25 - 30 1-032B/ 18/20[38{M10x 125 9°3™*| 9:71| 10|14/ Y-032B{ 18/ 20[38|Mi0 <125 9 |9:33/18| 5 | 14|NT-03|17[19.6/M10x1.25 6/ SN-032B|32| 37 M26<15| 8 315
40 |1-040B|22|24/55 M14 15 12°37° 165155 20| Y-040B| 22| 24|55 M14 x15| 12 [16.53 38| 13| 25| NT-04|22|254| M14:x15| 8| SN-040B|4 1/47.3M32 20[10/405

| E3r—1{k 5 CM2E - CDM2E

2
Z+H{T LE LV
H S+iTiE L[ RR e £1
E N N G CDwig’s LA,
A Kil 1. - - GL U
AL = P
S ] il
Eﬂ - x 2] | B ) VW r A p o -
S 2 -~ ()
M I LE LG {
J/ _l | LY 2-dLD
2 ih8 24D
T i1 HIFE
HTE G
PR © 2
@& (mm)[s723m| A [AL[B1[cD[cX[ D] E FIG[H[HI] 1 [K]L MM N[NA] NN [P[RR[ s[uU[Z]zz
20 ~300 |1815.5( 13| 8 | 12| 8| 20 S0 | 13| 8|41] 5| 28 | 5 | 12| M8x1.25 | 15 | 24 |[M20x1.5[1/8] 9 | 62 |115[115/124
25 ~300 [2219.517] 8 [12]10] 26 505 | 13| 8[45] 6 [33.5[ 5.5/ 12| m10x1.25] 15 [ 30 [M26x1.5[1/8] 9 [ 62 [115[119]128
32 ~300 [2219.517] 1020 12| 26 5., | 13] 8[45] 6 [37.5[ 5.5] 15| M10x1.25] 15 [34.5|M26x1.5[1/8] 12 [ 64 [14.5[124]136
40 ~300 |24 21| 22| 10| 20| 14| 32 S | 16|11]50] 8 |46.5] 7 | 15| M14x1.5 | 21.5|42.5] M32x2 |1/4| 12 | 88 |14.5/153|165
M ESEHE T
iE A &L 12 020, 025,432 i& F &L 40
CDP-1 CDP-3
38
+3 HiRpE
2 ALt g® (mm)|] F#S [W[LF[LG[H] P LT[ v [uy]Lz
s 83 20 M-Eozop | 8:8] 15 [ 30 | 30 [ 37 [3.2[18.4] 59 [ 152
;[ -(9/ ------ -4- 1% 25 = OB 6.8 15 | 30| 30 | 37 | 3.2 |18.4] 59 | 156
175 192 & 32 9 [15| 40| 40[ 50| 4 | 28 |[75[174
1.75 - —_— ] -
115} 25 o E—T Y : a0 |CM-E032B 115 40| 40 | 50| 4 | 28 |75]203
Hth A S
0] s
e cvew (8] [ ] - (58]
— o [] [ ] - (7] []
A cmza  [8] -[mr ][]
HhR R cmz [8][ @i |p - [mr |[ |
s cwen 8] [ ] - (8]
e [
(T2 A AT cM2 —| 1712 |B — xc8
(R RTIAED

iBigsEE: 0~50mm

b i

T A

iTIRATIASEL
(HREIATIHEL)
WBi2SE[E: 0~50mm

WiTIESET
ORAFED

WATIESE
CERHFED

cm2 [B][ @@ |-[ 7% |B - xco

cm2 [B][ & |- [ mmA |+[ 518 |- xcr0

cm2 [B|[ @@ |- [ mra |+ sEBA |- xcn1

* PLER#SEaR, EHE.

AENRRSEL(RIEAR)
CM2Z 5l (20~ ® 40)

S R T B (R K)

L 23 P & & E
H,
#ilB, el P I_g_] Z-NN
188, H. N
h IFH £
2 f K
=9 Lp s
MM .
AL H 15|
A K. E N ! Iﬁ
5 E EH S+{Fig —o
3 5 IE HH+T I WEEE ZZ+i7iE
BRAS ZZe2xiTiE
RERREARRED
ZE mm)| A JAL]B1[B2] D E F e HHI]H2T] 1 K MM N | NA NN P
20 18 |15.5| 13 | 26 | 8 2000 |13 | 8 [ 41| 5 | 8 | 28| 5 | M8x1.25 [ 15 [ 24 | M20x1.5 | 1/8
25 22 |19.5] 17 | 32 | 10 26 %, |13 | 8 [ 45| 6 | 8 [335] 55| M1ox1.25 | 15 | 30 | M26x1.5 | 1/8
32 22 [19.5] 17 | 32 | 12 26 S |13 | 8 | 45 | 6 | 8 [37.5] 55| M10x1.25 | 15 |34.5| M26x1.5 | 1/8
40 24 |21 [ 22 41| 14 32 §ue |16 | 11 | 50 | 8 | 10 [46.5] 7 | M14x1.5 [215|425] M32x2 | 1/4
iT & 1~50 51~100 101~150 151~200 201~250
i@ 5 s zz s zz s zz s zz s zz
20 87 141 112 166 137 191 : 5 : )
25 87 145 112 170 137 195 S £ ) 2
32 89 147 114 172 139 197 164 222 - -
40 113 179 138 204 163 229 188 254 213 279
[£H#F—{k% CM2E - COM2E]
% 5 [ mZZ+7 18
BEE HZZr2% (I LNA
W EE EZHTIE LP
% JE EH WHE HZ+2x 718 L |RR
#1348, W E WH+THE COH. ﬁ
R Pep L — |
HN HAREE N [ —
WEEDL
w Ll
Ay
29 [ £ 3
ke / | Kj
MM'J AL |—l_‘ ——
A K gl T
F |G -
H E [ I\I\
LF LG H I EE
LY
W ELZHTE
WEE HLZ+2% 712
‘HERPERNEER
(En% A| AL |[B1|cD|cXx| D E F|G| H|H1| 1 K |0 MM N | NA NN P|[PR| U
20 | 18| 155 | 13| 8 |12 | 8 |20, | 13| 8 |41 | 5 | 28 | 5 | 12| M8x1.25 | 15 | 24 | M20X1.5 | 1/8 | 9 | 11.5
25 |22|195|17| 8 |12 |10 |26 %,,, | 13| 8 | 45| 6 | 33.5 | 6.5 | 12 | M10X1.25 | 15 | 30 | M26X1.5 | 1/8 | 9 | 11.5
32 | 22196 |17 | 10 | 20 |12 | 26 %,,, | 13| 8 | 45| 6 | 37.5 | 5.5 | 15 | M10X1.25 | 15 | 34.5 | M26X1.5 | 1/8 | 12 | 14.5
40 | 24| 21 | 22| 10 | 20 | 14 | 32 %000 | 16 | 11| 50 | 8 | 465 | 7 | 15 | M14%X1.5 | 21.5 | 42.5 | M32x2 | 1/4 | 12 | 14.5
T 1~50 51~100 101~150 151~200 201~250
HE s s z zz s z zz s z zz s z zz s Z zz
20 87 140 149 112 | 165 174 137 | 190 | 199 2 s - 3 = =
25 87 144 153 112 | 169 178 137 | 194 | 203 = 3 = 2 5 =
32 89 149 161 114 174 186 139 199 | 211 164 224 236 : - :
40 113 | 178 190 138 | 203 215 163 | 228 | 240 188 | 253 | 265 213 | 278 | 290
1~50 | 51~100 | 101~150 | 151~200 | 201~250
s EMAEE (mm) | LD | LF [ LG | LH | LP | LT | v | LY
Lz LZ Lz LZ Lz
20 6.8 | 15 | 30 | 30 | 37 | 3.2 | 184 | 59 177 202 227 - -
SMEIan 25 68 | 15 | 30 | 30 | 37 | 32 | 184 | 59 181 206 231 - -
32 9 15 | 40 | 40 | 50 | 4 28 | 75 199 224 249 274 -
Sern 40 9 15 | 40 | 40 | 50 | 4 28 | 75 228 253 278 303 328




